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NEW QUESTION 1

Which two statements are correct about LUNs? (Choose two.)

A.    A LUN is accessed using an NFS mount.

B.    A LUN is a logical representation of a SCSI disk.

C.    LUNs are not supported on a single-node cluster.

D.    LUNs should never be created in the SVM root volume.

Answer: BC

NEW QUESTION 2

Which three protocols are used for DAS connections? (Choose three.)

A.    SCSI

B.    FCoE

C.    NFS

D.    ATA

E.    SATA

Answer: ADE

NEW QUESTION 3

You are asked to extend ONTAP to AWS with ONTAP Cloud. You need to deploy ONTAP Cloud in HA mode. Which statement is

correct in this scenario?

A.    ONTAP Cloud HA must be deployed in different AWS regions.

B.    ONTAP Cloud HA must be deployed in different AWS availability zones.

C.    ONTAP Cloud HA must be deployed in private and public clouds to achieve high availability.

D.    ONTAP Cloud HA must be deployed with NPS to achieve high availability.

Answer: B

NEW QUESTION 4

What are three examples of hypervisor platforms? (Choose three.)

A.    Citrix XenServer

B.    SUSE Linux

C.    Microsoft Hyper-V

D.    VMware vSphere

E.    Microsoft Exchange 2016

Answer: ACD

NEW QUESTION 5

How are virtual LANs (VLANs) used?

A.    to combine two or more physical ports

B.    to segment a physical port into multiple logical interfaces (LIFs)

C.    to segment a network into multiple logical networks

D.    to combine two or more logical interfaces (LIFs)

Answer: C

NEW QUESTION 6

A NAS client connects to a volume that is on a different node than the LIF that it is accessing. In this scenario, the client is said to
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have which type of access to the volume?

A.    external

B.    round robin

C.    indirect

D.    multipath

Answer: C

NEW QUESTION 7

Which ONTAP network type requires a private network?

A.    management network

B.    cluster network

C.    SP/RLM network

D.    data network

Answer: B

NEW QUESTION 8

Which two phrases define "server virtualization"? (Choose two.)

A.    using an application client such as Outlook to manage a mailbox

B.    running a server from a USB drive

C.    running multiple operating systems on a single host

D.    using a hypervisor to host application servers

Answer: CD

NEW QUESTION 9

What are two benefits of storage virtualization? (Choose two.)

A.    efficient utilization

B.    increased flexibility

C.    decreased CPU utilization

D.    decreased complexity

Answer: AB

NEW QUESTION 10

You are required to provision LUN-based disk devices for a Windows cluster using ONTAP Cloud as the storage platform. Which

transport would you use in this scenario?

A.    FC

B.    iSCSI

C.    FCoE

D.    NFS

Answer: D

NEW QUESTION 11

A new ONTAP system is being deployed and a volume is being provisioned that will be the destination for long-term storage of

many other volumes in the production environment. Which SnapVault feature provides this capability?

A.    storage efficiency

B.    block transfer

C.    fan-in deployment

D.    disaster recovery

Answer: A

NEW QUESTION 12

You are deploying several AltaVault appliance instances in virtualized and physical environments. In this scenario, which two

connection methods you would use during the initial setup? (Choose two.)

A.    from a serial connection for physical appliances

B.    from an SSH session for physical appliances

C.    from client console for virtualized environments

D.    from an SSH session for virtualized environments
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Answer: CD

NEW QUESTION 13
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